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101 Q14| 25,228 25,228 0
10 JIZHZ2=NEES 25,228 25,228 0
0 EXZAEA 2H(1Y) 10,812
o JlEa 34,000& = 270 9,180
o FHEUALHFILEH) 34,0003 * 39 1,326
o Atgasits=Y 34,000& * 9 306
0 =82 sUYUHFLAZAHAFH 22X
(1) 10,812
o JlEg2 34,000& * 270 9,180
o FEHEALY (TR 34,000& = 39 1,326
o AXtwa&iis=Y 34,000 « 9 306
0 HEZD 224 2H(1H) 3,604
o JE3a 34,000& * 90 3,060
o FHUALHFINLEH) 34,000& * 14 476
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seI|=4dH
AEHse BM U5
HEtZdsgeEy EHA)
SA-EH O (BH) - HBAY - B2 Ao gggf; HRS2
0 RI=sHMBIEXIZ=A (12.3ha) 12,300
0 L0 LAHAHX] XA (6ha) 6,000
0 RNSANSEMMALZAACHT] XA (480ha) 168,000
R R PN SONE=— 318,000 140,000 178,000
= 318,000
402 QIZ2EX =0l 318,000 140,000 178,000
= 318,000
01 QI2tX=2E X 318,000 140,000 178,000
0 2= X E X2 (536ha—610ha) 318,000
= 318,000
SIEblzs=2X& 1,040,000 740,508 299,492
= 593,000
& 79,928
iy 367,072
402 QIZ2EXE0| A 1,040,000 740,508 299,492
= 593,000
= 79,928
iy 367,072
01 QIZtX=2ExXR 1,040,000 740,508 299,492
0 SJI&2HIE22X2(6,7885—16,000€)) 1,040,000
= 593,000
= 79,928
= 367,072
ELMSEHEX 429,084 0 429,084
= 292,618
== 36,774
iy 99,692
402 QIZtXIE0| A 429,084 0 429,084
= 292,618
= 36,774
iy 99,692
01 QI2tX=2EX 429,084 0 429,084
0 ELMSFM XA (2,930€) 429,084
= 292,618
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By Fadse BM s
el FEYssA (sl &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
= 36,774
i 99,692
Haols2el 448,032 439,132 8,900
= 16,631
& 17,190
i 414,211
gols SE LA 361,000 322,100 38,900
206 THZHI 336,000 302,100 33,900
01 &l 336,000 302,100 33,900
0 golls XM =X (5600na) 336,000
402 QIZ2FX =0 25,000 20,000 5,000
01 BIZEXI=22 =X 25,000 20,000 5,000
0 B dolls et A (50HL) 25,000
BEEN s AMYEAY 20,000 48,000 A28,000
= 10,000
= 10,000
206 M=l 10,000 10,000 0
= 5,000
= 5,000
01 &l 10,000 10,000 0
0 HYdlss&eaellls 232 (2HA) 10,000
= 5,000
i 5,000
207 AP 10,000 10,000 0
= 5,000
i 5,000
03 AlE 1| 10,000 10,000 0
0 ESZTEHAZIARHY(508) 10,000
= 5,000
i 5,000
B o=yl X3 39,660 39,660 0
& 11,900
= 27,760
206 M=l 39,660 39,660 0
& 11,900
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01 THEHI 39,660 39,660 0
0 H gHoll=Z2=s2 Ml X< (5,600ha) 39,660
< 11,900
= 27,760
SUOLMALS EHIAIA 14,110 14,110 0
& 5,290
o 8,820
402 QIZ2HXE0| A 14,110 14,110 0
== 5,290
2 8,820
01 QI2X=2EX 14,110 14,110 0
0 st AIE2EHl X (441HE) 14,110
o= 5,290
= 8,820
AU REE (2 (HlEMc2Y) 13,262 0 13,262
= 6,631
iy 6,631
101 Q14| 3,500 0 3,500
= 1,750
iy 1,750
10 JIZHZ22XNsSES 3,500 0 3,500
0 B EHalls LAIASE (1Y) 3,500
= 1,750
= 1,750
201 B2 2,000 0 2,000
= 1,000
o 1,000
01 ArS2t2|t| 2,000 0 2,000
0B HE FLRY(1HL) 2,000
= 1,000
= 1,000
202 O4H| 2,000 0 2,000
= 1,000
iy 1,000
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- _ _ HEE
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401 AlEHIL R0 50,000 50,000
01 Al&Hl 50,000 50,000
e H s AAY 50,000
402 RIZHXHEO0IH 30,000 151,867
01 QIZIX=EEX 30,000 151,867
ZE2E0 PRI EXU X (300ha) 30,000
SAHSERDNIS MASIISE(ISBEsY) 100,000 100,000
= 30,000
2 70,000
301 YetEAZ 3,500 3,500
[ 1,050
2 2,450
10 SAIAHIZAS 3,500 3,500
ECtOIAEHX DEEALA(80Y) 3,500
= 1,050
2 2,450
402 RIZHXHEO0IA 96,500 96,500
= 28,950
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01 QIZIX=EX 96,500 96,500
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210I =2 ® =61 Z 2 M (19.47ha) 76,000
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M =glIsdH
By adse ZM 2y
el DEASAEN (sl &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
402 QI2HX=E01 A = 60,000
2 80,000
01 QIZIXI=2E2 X 140,000 0 140,000
0 MEFRI | sHAIS (2T ES) 140,000
== 60,000
i 80,000
=HI XSS AHXIA 639,220 0 639,220
= 319,610
= 95,883
i 223,727
402 SIZ2HX =0l 639, 220 0 639,220
= 319,610
= 95,883
= 223,727
01 QIZIRI=2E2X 639,220 0 639,220
0 sHIZZ2 S XX (3,900ha) 639,220
= 319,610
= 95,883
= 223,727
TS A MAHIEZAIY 25,000 0 25,000
& 12,500
i 12,500
402 SIZ2HX =0l 25,000 0 25,000
& 12,500
= 12,500
01 QIZEXI=2E2 X 25,000 0 25,000
0 ZA & MAH Z2AIE(1HL) 25,000
< 12,500
i 12,500
TEERI ST HolSLHAIY 10,000 0 10,000
& 3,000
i 7,000
402 RIZ2HX =0 10,000 0 10,000
= 3,000
= 7,000




2A: sgI|=4dH
By adse ZM 2y
CHol: FEESAEN (et9l: &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
01 QI2tX=2E X 10,000 0 10,000
0 &t SRIsAM HolsS2HAY 10,000
o= 3,000
2 7,000
SASMAREE 941,200 1,025,900 84,700
& 147,500
iy 793,700
OHAHE &S 631,200 473,400 157,800
oHAHEY 2s XN& 193,000 145,000 48,000
201 B2 IY| 150,000 104,000 46,000
01 AtR22id] 120,000 20,000 100,000
0 SSMZEXHAEEHEAAX (G M) 25,000
0 SEAMES22E = HZE(10,0000H) 19,000
0 HEAIDHE=AH XA (23]) 6,000
0 SAZESIEAAX(3) 30,000
0 GOIsSMEEEZ10(23]) 40,000
03 S#HAISHHI 30,000 84,000 54,000
0 2UeDAE E=(108]) 30,000
203 ERF&XH| 3,000 3,000 0
03 AIMF=RHFF=ZEH| 3,000 3,000 0
0 =LHQ OIAHE &S 3,000
301 LertgA= 20,000 18,000 2,000
10 AL HIBAZ 20,000 18,000 2,000
0 HEASEASE NS A0 M) 20,000
401 AIEHIZ =204 20,000 20,000 0
04 SHAF2ISHAIEHI 20,000 20,000 0
0 ETHHANRALCIAZY 0l KK (202 M) 20,000
Feel A& AMA TR 44,000 44,000 0
201 B9y 20,000 20,000 0
01 AtR22ld] 20,000 0 20,000
0 Feel Y HAISERL(100E) 5,000
0 Feel dY AT SAAIH(202 ) 15,000
301 e AS 4,000 4,000 0
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HH: SMSUNRSHE

cHol: DI EE (et9l: &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
10 SHAIAHIEAZ 4,000 4,000 0
0 Feel HY WA I A (202 H) 4,000
401 A&EHILE00H] 20,000 20,000 0
04 SHAFZISHAIAY] 20,000 20,000 0
0 Feel Y AAIL DISPLAY A XIAFZ (15]) 20,000
OGN 29 2435 13,000 28,000 A 15,000
201 2BrEIH| 3,000 18,000 A 15,000
01 ArR2t2|bl 3,000 0 3,000
0 HE A DHEr=X S AL(27]) 3,000
401 AIEHIZL 204 10,000 10,000 0
01 Al&H| 10,000 10,000 0
0 SSEAMZ2 ZTHE MU (20HA) 10,000
SSNE SEAEY 324,000 234,000 90,000
201 eIy 324,000 210,000 114,000
01 AtR22id] 300,000 180,000 120,000
0 HE Al =sSdt2 E22 0= (XotE) 180,000
0 HE Al sS4 2202 (AMUHA) 120,000
02 222ZH| 24,000 0 24,000
0 AEESRIES 24,000
SMrs 29X 27,200 22,400 4,800
201 B2 A 6,800 2,000 4,800
01 AtR22id] 6,800 2,000 4,800
0 et=ZH| 6,800
202 O] 20,400 20,400 0
01 =ZUWdH 20,400 20,400 0
0 2L o4l 170,000 ~ 4%  12& 8,160
0 2204t 1,020,000& * 128 12,240
SSBdHE2 30,000 0 30,000
402 QIZ2EXE0| ™ 30,000 0 30,000
01 QI2tX=2E X 30,000 0 30,000
0 2ESEHCEIHMAK(10B2) 30,000

SRS 310,000 272,500 37,500
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SN S L HE
HME: £Z0|u S0

£H9l: oH 2l Al EHH (Er9): & 2)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2

0 +ESUHEAMEIXNRA(AER) 60,000
ASTS OLE M 4,300,297 3,945,948 354,349

= 250,947

g 250,000

J| 305,979

= 900,201

o 2,593,170
W=MAE DIBEENS 1,495,582 1,097,698 397,884

= 190,947

J| 305,979

= 205,055

iy 793,601
ALY XS 112,500 44,300 68,200
402 QIZ2EXE0| M 112,500 44,300 68,200
01 QI2X=2E X 112,500 44,300 68,200

0 =22dlcl &KX XA 112,500
W=MAAE SUE ALY 45,000 37,500 7,500
402 QIZ2EX =0l 45,000 37,500 7,500
01 QI2AX=2EX 45,000 37,500 7,500

0 2= AFAEXHBMA) 15,000

0 OllHAIA XIS (1000 4) 30,000
DAABH A KA 248,130 0 248,130
402 QIZtXIE0| A 248,130 0 248,130
01 QI2X=2BEX 248,130 0 248,130

0 HESAIIX(B0IHA) 7,500

0 AN AUDMAAIS (1) 37,500

0 Z22HA LAY 184,500

o HAZXH(0IMA) 100,000

o MlYAlA(100HA) 30,000

o 8t I (1000 4 ) 20,000

o WS HZE(3MA) 19,500

o XIZ= A& (5ha) 15,000

0 S04 =2 X M XI& (235ha) 16,380




SN sYISME
HE: ASHS OHHMA
CH9l: DRMA JIBHE A (£ &%)
_ _ _ Muo
FAH-FH-SASA) - NRAE - BE=Z Ol &+ 9K Ofl At ot Hws2
0 BHQIZA=I| KIS AE (15CH) 2,250
BLESS HRIE SISH 30,000 3,000 27,000
301 LB 5,000 3,000 2,000
10 SAAHIZAZ 5,000 3,000 2,000
0 HSLCHH (H PR &2 & (150) 3,000
0 5, TS QEE EA(40F) 2,000
402 QIR+ 0IF 25,000 0 25,000
01 2AR=EZE 25,000 0 25,000
0 MSw SPLEZ3 HZ KR (25,00004) 25,000
FTAMIZIS &8 2 22/t 5,000 452,000 447,000
=2 5,000
201 Ler2y| 1,500 0 1,500
= 1,500
01 AFR2elt] 1,500 0 1,500
0 FTAXI S X+ 8 AbRI S R 1,500
2 1,500
202 OiHl 1,500 0 1,500
= 1,500
01 =Ujord 1,500 0 1,500
0 FTAXI 2 XHE AFRI S 7 01 bl 1,500
2 1,500
01 LerEAZ 2,000 0 2,000
= 2,000
ETECE 2,000 0 2,000
0 FIARIZ R EA L FRRB A2 2,000
2 2,000
Db EMTHUE Al AN 10,000 6,754 3,246
= 5,000
2 5,000
402 QIR OIF 10,000 6,754 3,246
= 5,000
2 5,000
NEEEEES 10,000 6,754 3,246
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HE: ASKS OFFMA
Sl DM DB R Rk
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 giﬁgfﬁ B2
0 B4 AT HHAIRIAF (11.3ha) 10,000
= 5,000
i 5,000
sitE SH XE 15,000 15,000 0
= 5,000
= 10,000
307 glz2told 15,000 0 15,000
& 5,000
= 10,000
04 GCIZtHALE X 15,000 0 15,000
0 dAUHsSZEHMA(10A) 15,000
= 5,000
i 10,000
sA=Mol2E X2 82,660 82,660 0
= 36,300
s 46,360
402 QIEXE01H 82,660 82,660 0
= 36,300
i 46,360
01 QtR=Ex 82,660 82,660 0
0 =2 M2 XA 82,660
< 36,300
[ia 46,360
ASHS ANYAL(SHE DY AlL) 15,000 15,000 0
= 7,500
= 7,500
402 QIZEXE01H 15,000 15,000 0
= 7,500
= 7,500
TS 15,000 15,000 0
0 st ZEg2AI=FE 15,000
= 7,500
[ia 7,500
D MBS MAI|S 1,200 11,200 0
= 4,200
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